treated as malpractice

50 will be

417+R

AT

alnator
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7 Financial Management NP
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Time: 3 hrs. ~ Max. Marks:80
Note r,‘l Answer any Four questions from Q.No. 1o Q 'No. 7.
‘1% Que;tton No. 8 is compulsory.
3i Annuuiy table may be used.
1 a. Define Financial Manhgement (a\P) (02 Marks)
b. ABC Ltd., has the follo\Quhg Capltal structure : N\
(C_ U Source o N
Equity (Expected dividend 12%) '10,00,000
10% Prefereme 2, | 5,00,000
8% Loan “<<7/ 15,00,000
Calculate the weighted average cost Qf Q‘rtal,/assummg 50% as the rate of income tax,
before and after tax. ( (06 Marks)
c. A company issues 10,000, 10% preference shares of Rs 100 each. Cost of issue is Rs 2 per
share. Calculate cost of preference capltal\lf these shares are issued i) at par ii) ata
premium of 10% iii) at a discount o} 5% (08 Marks)
2 a. Explain the term CAPM. Y/ = i . (02 Marks)
b. Wealth maximization Ob_]CCthC 15 suﬁerlor than p«‘of‘ t-maximization, explain. (06 Marks)
c. A project involves initial mvestment for $ 5,000, 00() The net cash inflow during the first ,
second and third year is expccted respectively $ 3, 060, 000> , $3,500,000 and $ 2,000,000.
At the end of third year, the;S}:rap value (salvage valuey'i is mdgcated at $ 1,000,000. The risk
— adjusted discount ra/te is. 10%, calculate the NPV. ‘ s (08 Marks)
LN % ;
\ NG / /
3 a. What are the two 1mp0rtaht characteristics of current — assets? % ’;‘x. (02 Marks)
b. What is the dlffererrfx: between operating leverage and ﬁnancra[ievgrage" (06 Marks)
c. A firm purchase&a rrfachmery for Rs 800,000 by making a dowh/payment of Rs 150,000
and remaindef. i "pqual installments of Rs 150,000 for six years. What is the rate of interest
to the ﬁrm" """ o~y (08 Marks)
4  a. Define Worlung Capital. ,\;‘\:;Z j"\ (02 Marks)
b. Descrxb@ xhe features of equity shares. What is the difference between eqmty\share and
debentur‘ee" \~ (86 Marks)
(o Mr\ Longmarl borrow Rs 10,00,000 at an interest rate of 15% and the loan is tQ-’.b;i Rard in5
eéruaT ‘installments payable at the end of each of the next 5 years. Prepare fh’eA loan
f’ramertlzatlon schedule. mng;s)
Vo s "‘\(_,5:/”/
£ \ N _/
5 a FI"ow long will it take to double your money if it grows at 12% annually? (02 Marks)
b. A company has Rs 100,000 , 10% debentures and 5,000 equity shares outstanding. It is in
the 35% tax bracket. Assuming three level of EBIT : i) Rs 50,000 ii) Rs 30,000
iij) Rs 70,000. Calculate the change in EPS, assuming base level of EBIT = Rs 50,000.
(06 Marks)
c. Explain the factors affecting the cost of capital. (08 Marks)
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a. V\Ghat is Sinking Fund Factor? /2 (02 Marks)
b. What }8” nuity? Explain different type of annuity with example. o /V ’> (06 Marks)
c. ¥he té{& financial information for XYZ Ltd., for the year ended 2'§){}2 45 given below.
(Profit an;i/fzbss account Rs in million). ¢ Q\\/ (08 Marks)
Patiuin 112012 [ 3112200
‘Sales 80 ot
“|(Cost of goods sold | 56 .
\Plhventory 9 R/
Account Receivable 12 \ 16
Account Payable 7 I ' I \ ol 0
What is the length of Operattﬁg cycle and the cash cycle] Assume 365 days to a year.
QN
a. What do you mean by Caplfd‘l\budgetmg" (< 73\\‘} (02 Marks)
b. Explain different approaches ofawpr/kmg capital chrreﬁt assets) financing policy. (06 Marks)
c. Calculate Operating leverage, Fmancml leverage and’ Combined leverage from the following
information : SN N (08 Marks)
Particulars | Disha Compaﬁy Ltd (Rs) Gagan Company Ltd., (Rs)
Sales 25,00,000 35,00,000
Variable cost 7,00,000 ..~ 11,00,000
Fixed cost 8,00,000 "~~~ 10,00,000
Interest 3 drmod =0 4,00,000
A Company is considering the followi <mvestment pﬁajeqts
Projects | ;%7/' Cash ﬂowéjﬁ&s)
I <Co G ‘E‘z S G

A /) 4=10,000 | + 10,000 o
B*74/410,000 | + 17,500 | + 7. 500 .
/¢ [ - 10,000 | + 12,000 | +4,0009 %+ 12,000
D~ | - 10,000 | + 10,000 | + 3,000 \xw,ooo
Rank the project acdoydmg to each of the following methods :
i) Payback if) \AKR iii) IRRand iv) NPV; assummg d1scount rates of 10 and 30
percent. - e

(,

Assuming the projects are mdependent which one should be accepted? If the projects arc
mutually exclufswe which project is the best and why? <
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